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Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions: (14)
a) Which industries hold special importance in the Indian economy? 1

(A) Consumer goods industries  (C) Big Industries

(B) Service sector Industries (D) Small & Cottage industries

b) 'SATH'is the programme of..... 1
(A) Planning government (C) NITI Ayog
(B) Gujarat government (D) Central Government

c) The Ayog created in place of Planning Commission is... 1
(A)Planning Ayog (C) NITI Ayog
(B) Economic Ayog (D) Election Ayog

d) Which of the following can be considered the defect of planning ? 1
(A) Excessive high targets (C) rise in price level
(B) defective planning system (D) All other option

e) With the foreign capital and aid made available to India there has been 1

development of ....

(A) Agriculture Sector (C) Industrial Sector
(B) Service Sector (D) Over all development
f) In the different forms of foreign capital ... is included. 1
(A) Garant (C) Loan
(B) Foreign Private Investment (D) All other option
g) Inhow many ways the implementation of privatization in the industrial 1
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sector can be done?

(A) Five (B) Three (C) Two (D) Four
h) Economic reforms means .....

(A) Liberalization (C) Globalization

(B) Privatization (D) All other option

i) In which of the following act amendments related to monopoly and

prohibitive trade transactions have been made ?
(A)FERA  (B)MRTP  (C)FEMA (D) None
j)  When did the Special Economic Zone - SEZ begin in India?
(A) April, 2001 (C) April, 2000
(B) April, 2004 (D) April, 2002

k) When there is condition of recession in the economy, then government
presents which type of budget?
(A) Common Budget (C) Balance Budget
(B) Deficit Budget (D) Imbalanced Budget
I) The RBI providing overnights loans at the interest rate to commercial
banks is called which rate?
(A)Bank Rate  (B) Reverse repo rate  (C) Repo rate (D) None
m) Which of the following can be considered the tool of fiscal policy ?
(A) Taxes (C) Public expenditure
(B) Public debt (D) all other options
n) What the production of agricultural produce are called?
(A)Total agricultural productivity  (C) Total agricultural production
(B)Agricultural production growth (D) None
Attempt any four questions from Q-2 to Q-8

Q-2

Explain Importance of Indian Industries

(14)
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Q-3

Q-4

Q-5

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

(A)
(B)

Explain needs of Foreign Investment in India.

Attempt all questions

Explain problems of Small Scale Industries.

Explain low productivity in Agricultural Activity.

Attempt all questions

Give the meaning of Fiscal Policy. Explain objective of Fiscal Policy
Explain remedies for Problems of Small Scale Industries.

Attempt all questions

Give the meaning of privatization, Explain process of privatization.
State the evaluation of 11" Five Year Plan.

Attempt all questions

Explain disadvantages of Indian Planning.

Write a note on Niti Aayog.

Attempt all questions

Explain advantages of Indian planning.

Explain effects of New Strategies in Agriculture.
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